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ECONOMICS
Paper - |

Development and Environmental Economics

Time : Three Hours] [(Maximum Marks : 75

Az .ot v & T dafwu) mil oyl 6 3w
TR €

Note : Answer all questions. All questions carry equal
marks.

%&18 / Unit-I

1. onfds fasmm &1 gitwman Q. 991 FHH

e HHARUI
Give the definition of Economic growth and
discuss its importance.

94l / OR
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(2)

frafafaa « 9o

(@) TmE Tur frdy et
RO RIEEREEI RS CEIED

Explain the following :

(@) Relative and Absolute poverty
(6) Human Development Index

&R / Unit-1I
2. WRA W wgdl § SHen %GRl 6
faa=r sifsao

Explain the causes of rapid growth of
population in India.

39ar/ OR
‘SEE, s @ 990’ W T e
. fafaw)

Write an essay on ‘Population, Poverty and
Ervironment’.

T / Unit-111

3. Swd W e gR wfowiea s
fawrg Wied @ =R ST

Discuss the Economic Growth model
propounded by Mrs. John Robinson.

394qr/ OR

JDB_196_% (4) (Continued)

5.

(3)

g w1 oifad emyfd fagm & mem
HIT | '

Explain the unlimited supply of labour theory.

THE/ Unit-IV
Frfafen W g feofral fafe :
(@) TART Th AGdGHa A1 faenfaa
(b) SAEEA AR ST
Write short notes on the following :
(a) Environment as a necessary or luxury
(b) Population Environment linkage
HYGT/ OR
frafafes w dfya feufri fafe :
(o) Waig axgeli & fag Imm =t
SR
(b) vguU — = T UAm
Write short notes on the following :
(a) Market failure for environmental goods
(b) Pollution — control and prevention

TR / Unit-V
difgsw st fmfmr & oo @ W 2
¥ o A difgew gsit fmfor @ @0
it 22
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(4)

What do you mean by intellectual capital
formation ? What is the role of intellectual
capital formation in economic development ?

Y947/ OR

s AT ¥ T oemm ¥? wifsw A &
I/ AR

What is meant by Monetary P-olicy ? Mention
the objectives of Monetary Policy.
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ECONOMICS
Paper - II
Statistical Methods
Time : Three Hours] [Maximum Marks : 75
e Wl T F s dfNu wsft gEH ¥ eiw
TE T -
Note : Answer all questions. All questions carry equal
marks.
T8 / Unit-I

1. WS 96 Thad w1 & fafv= Gl
F 3G hifaT |

Mention the various methods of collecting
statistical data ?

Hedqr / OR

IDB 220 x (7) | (Turn Over)
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(2) (3)
e e ¥ A ®? | THE / Unit-111

3- i IE[ T-‘q’$. 11 !]ql r irrj—,r:", a’m -
z * « N 3HF i Uiea

T Fifem
T / Unit-II | - )
. T siwel 4 TR W g S D o) .
3 W (7 %)}0-10|10-20{20-30{30-40| 40-50[50-60 |6-70| 73-5¢
¥ F |10 |20 |30 {40 |50 |60 |70 | 80 i )
amafa |15 |30 |53 |75 [10of1i0|115]125 wHem s [ 15| |2 |s|w]|s | o
Calculate Arithmetic Mean from the following . , Find standard deviation ax;d its co'efﬁéiem
data s | ‘ from the following data:
Less than|10 | 20 | 30{40] s0{ 60|70 [80 )
) . ge B
Frequency| 15 | 30 | 53| 75 |100{ 1104115 }125 (in years)| 0-10 |10-20{20-30{30-40{40-50]50-60{60-70[70-80
S7aT/ OR t No. of
' ) Persons | 15 15 | 23 | 22 | 25 10 3 10
= it # sgaw &0 BN — —
. 3941/ OR
R | 0-10[10-20{20-30|30-40[40-50[50-60|60-70 b @

— \ f stieel ¥ aRa &1 fawwa s d
smafaf s | 7 | w0 [ 18| 16|10 | 5" R

Calculate Mode from the following series: —
' _ _ i | 0-5[5-10{10-15[15-20(20-2525-30
Size 0-10|10-20{20-30]30-40{40-50]50-60]60-70 —
argfa 1 4 | 4
Frequency| 5 | 7 101816 |10} 5 . 5|70 6 B
JDB_220 % (7) (Continued) JDB_220_%_(7) (Turn Over)
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(4)

Calculate Bowley’s coefficient of Skewness
~ from the following data:

Class |0-5(5-1010-15(15-20{20-25]25-30

Frequency | 5 | 7 | 10 | 16 | 4 | 4

THE / Unit-IV : »

4. WeHay &1 o w§ Wew wHse fafEw)

Explain the meaning and importance of
correlation. -

HYqr/ OR

fet geean wiedifin § 10 wiodiiml =1
i Frodasl (Si) g = o § @

vgq fuias - 1, 6, 5,10, 3,2,4,9, 7, 8

fgda froaw - 3,5,8,4,7,10,2, 1, 6, 9 )

qia fufas - 6,4,9,8,1, 2,3, 10, 5,7 ‘
i

T &t Fife-gedsy 0w # §am

‘& gE FaRy T ol () % R !
e F g & ¥a Fpeaw @A wfY i
€27

, |
JDB 220 _* (7) (Continued) }

(5)

Ten competitors in a beauty contest are ranked
by three Judges in the following order:

First Judge—1,6,5,10,3,2,4,9,7, 8
Second Judge-3,5,8,4,7,10,2,1,6,9
Third Judge-6,4,9,8,1,2,3,10,5,7

Use ~the Spearman’s Ranking correlation
coefficient to discuss which pair of judges
have the nearest approach to common tastes
in beauty ?

THE / Unit-V

= wHel % wemEa ¥ 9 96 % fog
SUNHRT I YIHF JIR I :

bl kSl

& 7 | R | emuR o | =i o
Ly 16 8 10
EIC| 22 4 14
= 18 5 16
S 20| 6 27
==t 24 8 28
JD]?220_*_(7) - (Turn Over)
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(6) (7)

Construct Consumer Price Index for current (b) Time-Series Analysis
year from the following data: ) (¢) Main points  consideration  while
Item of " Price constructing Index Number
Expenses | Weight | Base Year | Current Year (d) Semi-Average Methods
Wheat | 16 8 10 _
Rice | 22 4 14 @ D
Gram 18 5 16
Pulses 20 6 27
Sugar 24 8 28
Y41/ OR
fetfafea & frel @ W dfia feoftmr
fafau
(a) SORTRIC TLIATOT g
(b) HA-Avit g E
() Trdgier w1 § & P 9mF 9 ® L
(d se-m fafy

Write short notes on any two of the
following :

(a) Reversal Test
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